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Topic:- Child Development & Pedagogy (CDP)

1) All learning is by-and-large successful when it is / It sifermT ImHT=gE: Pd e
VrAEAEVE_ feumwmargl

1. Resource rich / T JUHA

2. Self-directed by the learners / Rrenffay gRT R RETAR|
3. Technology led / PIBIRCIER] ﬁ?jc_q’

4. Teacher led / TRI&® BT ﬁ?jc_d'

Correct Answer :-

o Self-directed by the learners / fRrenffal gr @-fAdRE

2) Which of the following is the technique of classroom management where a student displaying
negative behavior is separated from the rest of the class? / fafafead a -1 DET U
Bt PP ¢ T8l TPRIHAD HATR USRI B ITAT TP BT AT H&T A (T g1 STl 82

1. Satiation technique / _g'@ dPp-ih
2. Extinction technique / oA do-ie

3. Corporal punishment / IRIN® &8

4. Time out technique / THY JHTE Th1PH

Correct Answer :-

« Time out technique / THT JHTE dH1h



Which of the following is not true about the demonstration method of teaching? / m ﬁ' @

P Rreror & siftraafea A & s A v 78 22

1. The focus is on the demonstration of concepts through experiments/activities / STYRUMSA BT

TS TN/ fohaTehaal TR higd gidT g |

2. It can be used for a multicultural classroom /WWW$&T%WWW
IJHargl

3. The learners gets an opportunity to parﬁcipate/ﬁﬁmﬁ@%ﬁ@ﬁww 3T THAT
gl

4. All the topics can be covered by this method /s’ﬂﬁfﬁmmﬁﬁuﬁﬁwmwwél

Correct Answer :-

« All the topics can be covered by this method /s’ﬂﬁfﬁmmﬁﬁuﬁﬁwmwwél

4) A 20 year old girl’s mental age is 12 years. Find her IQ. / T® 20 HTd P F‘l?ﬁﬁ &t S

S 12 919 8| 39Dt gigaisd Fpiferg|
1. 100
2. 125
3. 60

4. 65

Correct Answer :-

5) The father of Intelligence tests is ./ g@ 'q-\ﬁ'&‘l'uﬁ CAvE G %:I
1. Francis Galton / Hi TTecd

2. James Cattell / @T{[%ﬂ
3. Alfred Binet / 3fabs faq
4. Karl Pearson / CARIBRIE]

Correct Answer :-

+ Alfred Binet / ks fom



6) GDD is a developmental disability recognized in children who are ./ SISISt Th Ao

wadh srgm@T 3 S daA o frewdt 31
1. below 5 yrs./ 5 T8 ¥ BI =i A

2. age 12-14 yrs. / 12-14 TS B AT A

3. above 5 yrs./ 5 I8 U 31 & T<di A

4. above 18 yrs./ 18 Y A FW

Correct Answer :-

. belowSyrs./Saﬁ@@ﬁ%aEﬁﬁ

7) If the chronological age and the mental age of the child is 15 years. He will be classified into

which category? / Ufe =1 Ft STATIH AP Y 3R ARG Mg 15 a9 31 <t 39 forsy oft
Tiffpa far smem?

1. Superior / 3
2. Normal intelligence / JTHII §@

3. Genius / UfaHTRITE

4. Below normal intelligence / dTHT Tg’@ =

Correct Answer :-

« Normal intelligence / HHI Tg:@

8) According to Jean Piaget, cognitive development starts at stage / S fUarst & SR,

TIATHS AP AT R IR gar el
1. Concrete Operational /@-W

2. Preoperational / Eﬁ—w

3. Formal Operational / MR dfpards

4. Sensorimotor / Hadl U=y (@ﬂﬂ'ﬁh??)
Correct Answer :-

« Sensorimotor / Hagal U= (@m

9) According to Jean Piaget, preoperational children are/ S fUars & SR, qﬁ-ﬂﬁ»‘qm
AT & T B4 5Id o2



1. Egocentric/ SHDIGd @ﬂm

2. Flexible/ T (FAfaqaa)
3. Complex/ Sfed

4. Social / THTIIR

Correct Answer :-

» Egocentric/ MG IEd @ﬂ@%

10) What concept takes into account an individual’s mental and chronological ages? /

ol cafea &Y arfre iR STargH e g FIH-A YR e # T@dl 82

1. Cognitive quotient / HITTHD HTTH A

2. Intelligence quotient / gm

3. Intellectual quotient / d\lfqacb HTh A

4, Functionality quotient / & il HITh S

Correct Answer :-

« Intelligence quotient / m

11) What is the term used to denote an unfavorable attitude towards members of a particular ethnic or

religious group?/mmmmﬂmﬂ%%m%mmmﬁmﬁ%
fere f5 e o1 U o SiTaT 82

1. Prejudice / U&UTd
2. Racism / T¥1dlq
3. Enmity/_g';m:l:ﬁ

4. Fanaticism / P &l

Correct Answer :-

o Prejudice / U&UTd

12) What type of memory may be involved in carrying out complex mathematical problems? / \_!‘lﬁ?[

T e @ R HA # fha uoR 3t Wfa aftrfd g aodl 82
1. Iconic memory/q'%lﬂmﬁﬂ% (mm



2. Echoic memory / UfcIedf= Fﬂﬁf (ThIgdh HERY)
3. Working memory / I gﬂﬁf (aﬁ?ﬂ ﬁtﬁﬂ)

4. Sensory memory / Tad! Fﬂﬁf (@ﬂff ﬁ'ﬁﬁﬂ)

Correct Answer :-

« Working memory / T¢I F:jﬁf (Ollrac;)‘l ﬁ'ﬁhﬂ)

13) In which stage of Piaget’s theory of cognitive development do children develop the concept of

conservation?/W%WW%W%mWﬁﬁﬁwmwm
feRagar s

1. Concrete operational stage / Hﬁﬂw SHART

2. Post-formal stage / URe- 3T SawT

3. Pre-operational stage /Uﬁ—w S{ARIT

4, Formal operational stage / 3= TiharaTes gt

Correct Answer :-

« Concrete operational stage / Hﬁw SIIRYT

14) Thorndike’s Law of Readiness is also known as: / Q-IF[@TEE?; & daRal & a9 $I ERUGIE g
W ST ST B:

1. Law of Exercise / 3% &I 99

2. Law of Effect / THTd &1 (AT

3. Law of Action Tendency / Eap ‘;lq'f%f &1 a9
4. Law of Set or Attitude / §< T IFﬁqﬁr &1 |

Correct Answer :-

+ Law of Action Tendency / Eap EIQ'[-;([ &1 |

15) Which of these includes unhappiness when defining abnormality? / SIRITHTRIT P ufeHTia Fed

g 378 | foraw Arg=it e @2
1. Danger to self/others/ T4/3=0 & T 91dH
2. Deviance/ Taaa

3. Dysfunction / IECAR



4. Distress/ ﬁ@T

Correct Answer :-

o Distress/ ﬂTST

16) Which of the following is not an individual difference that affects learning? /

FrafafEa & 3 #9-a1 e safdea siar 18 8 <Y ftrm &t gutfya wrar 82
1. Gender / T

2. Height / TS

3. Socioeconomic status / AT -3 FRUfd

4. Caste / SITfdl

Correct Answer :-

. Height/@ alé

17) Which of the following is not a part of working memory? /fFrafeafea # 9 o9 srdia giﬁf
&1 few 151 82

1. Central executive / PAIT PRAGRT (Vg Tayagfed)
2. Phonological loop / TR-TART Taeht Ur=r (BTG d )

3. Episodic buffer / Qlﬁﬂll3$ dhR
4. Sensory register / ﬂa_qpf e

Correct Answer :-

» Sensory register / ﬂé‘cﬁ IfoReR

18) A child-friendly learning environment shall have / b TP ﬁﬂ! P d STRRTH qraTaror &
= g

1. Learner discipline / RI&T off TR

2. Learner autonomy / fRremef o T
3. Linear exposure / IR TR

4, Teacher authority / Riér &1 fUPR

Correct Answer :-



« Learner autonomy / Rrgndt ol Taraarn

19) Castration anxiety occurs in which stage of psychosexual development? / A faer &t

P A} a1 H FeaduT foidT (SR Togdl) gidl 32
1. Anal /7]al (Ucl)
2. Oral/ﬁm(m)

3. Latency / Yl (ﬁ%}tﬂ)
4. Phallic / AT (Bfe1p)

Correct Answer :-

. Phallic / A (Wfcr)

20) Rehearsing for later relationships is called

1 918 & fezal & o yahay we1 e 8:

1. Developmental Socialization / fAhIITHS THTSHHRUI
2. Secondary Socialization/ fedtae Tt

3. Primary Socialization/ B FHTSIIHROT

4. Anticipatory Socialization/ Yc|XK[IHD HH [SHHRU]

Correct Answer :-

 Anticipatory Socialization/ YHIRITHD H [SHHRU]

21) children from disadvantaged groups are less likely to have good nutrition, access

to good health care, and opportunities to /ﬁﬁlﬁ H'F‘Iff% TI B 3T
?w,a@wmmwugaaﬁv & AAR] DI AHTIAT HH gl
I

1. Play / @@
2. Learn /?ﬂ@%[
3. Study / H&HYq

4. Enjoy / 3TFig

Correct Answer :-



e Learn /Fﬂ@ef

22) CANCELLED

“Individuals are born without built-in mental content, and therefore all knowledge comes from

experience or perception.” This notion is referred to as ./ vagfadd o= foht Gﬁmﬁ
AHRI® UH30l & UeT g1d &, 3NT SHfee Jt 1 3gYa a1 YRom & 3md 17 39 YRon
Gal & ¥u ¥ Aeffa frar wmar 31

1. Tabula nota / ALY 1T (AT AleT)
2. Tabula rasa / HTGH H:RRYfA (e I
3. Tabula primus / ATIH UGl (AT UISHY)

4. Tabula novus / TTYH T (AT -Aa¥)

Correct Answer :-

« Tabula rasa / ATGH H1:IRUTT (e Ir4)

23) CANCELLED
Benchmark assessment is also known as: / STHTH STHAT BI gg W Dol Slldl %:

1. Summative Assessment / q\l‘lld-lcb HTh

2. Diagnostic Assessment / i'\'ldl"lld-lob Hlch i
3. Interim Assessment / 3IdRH 3fTHTT
4. Formative Assessment / ﬁﬂfUTW SAlh A

Correct Answer :-

« Interim Assessment / 3TN THAT
24) CANCELLED

In big 5 model, personality types are distinguished based on /33 sHISd ﬁ, i &

THR & MR R fafkre feg &ma 31
1. Culture personality/ <1 | P fae Afada

2. Personality traits / fadid fafyar

3. Emotional intelligence / HIdh g




4. Season based/ T3 STUTRd

Correct Answer :-

« Personality traits / HfadiTd m

25) CANCELLED

In Erikson’s theory, the aspects individuals generally focus on developing during adolescence and then

during young adulthood is called / m%mﬁ, Wmaﬁ P AMHAR W
%@W%ﬁﬂg%ﬁﬁwm%ﬁa%mm%aﬁ?ﬁwwm%m
RGN

1. identity, basic trust/ Ugdl-, Hd fayrg
2. identity, intimacy / UgdI, STHTT
3. intimacy, identity / 3{ARITdI, UgA

4. basic trust, identity/ H{cI ﬁ”dm , Ugdld

Correct Answer :-

« identity, intimacy / g9, fT&adl

26) CANCELLED

According to Piaget when an infant reaches about 7-9 months of age they begin to develop what he
called_ ./ UGS & SII9R, 919 TS R @TUT 7-9 A1 &1 39 a6 Ugaar g, ai d
ReRMERTRIRRATER_ @erdl

1. Egocentrism/ slilﬁlléﬁ

2. Personal fable/ quarl‘l(‘l dOrc'\Hd

3. Object permanence/ d¥q B IBor|
4, Inductive reasoning/ ANTHATHD GC2

Correct Answer :-

+ Object permanence/ 9] QT

27) CANCELLED

The condition wherein an individual loses awareness and flees his own identity is known as

agf@rﬁrﬁwﬁaﬁéw%rm@ém%ﬁﬂmﬁwﬁm%m%
P EUAEHEISE gl




1. Shock / 3TUTd
2. Repression / qH

3. Trauma / AHfETd
4. Fugues / W1

Correct Answer :-
« Fugues / W
28) CANCELLED

The way a person presents any information in his/her brain is an example of his/her. / ] aje I

%ﬁéwﬁrmmﬁﬁmaﬂmaﬁwm%wmﬁﬂmm

1. Personal characteristics /@W G‘Ff\‘l-lﬁ&FUT
2. Cognitive characteristics / ST S{THTET
3. Emotional characteristics / lﬂa'q:uf WW&WT
4. Academic characteristics /QT&‘TUT Giﬁ-la&l'UT

Correct Answer :-

« Cogpnitive characteristics / IATHD Sfeem

29) A teacher can replace the term 'Failure' in his/her feedback with / U fR1&/% g+t ufaferar
H ¥ BT g B ufaATia H= gadr 8-

1. lack of intelligence /qu@ﬁ HH

2. Incompetency/&l'chw

3. learning disability SITRTH 3ferHdT

4, emerging in learning / ST H SUAT

Correct Answer :-

e emerging in learning / STIRTH H IHRAT

30) One student is not able to learn in the class as his/her pet is not well. Most likely factor
affecting learning is -/ T BT H&T A Tg1 WG UT 38T 8 FP ITDT UTelr U] St 781 8
SR B gUIfId HA aTe gad GHIfAd RS @



1. lack exercise/ H¥IH CAKZE

2. adverse emotional condition/ Qﬁw YTaTdT o fRufd
3. lack of sleep/ '_‘ﬁ?{ P HHI

4. lack of nutrition/ TINuT &t HH

Correct Answer :-

« adverse emotional condition/ Wfcidpel HIGHTcH® FRUfd

Topic:- General English(L1GE)

1) Fillin the blank with the correct option in the given sentence:

The branch of physics that deals with living organisms is called --physics.
1. meta --

2. bi--

3. bio --

4. geo --

Correct Answer :-

2) Fillin the blank with the correct option in the given sentence:

The company responded decis-- by sending the work overseas.

1. —ion
2. —-ive
3. —-ively
4. --ous

Correct Answer :-

3) Read the passage carefully and answer the question given below:

“The Brooklyn Bridge” when it was completed in 1883, it was hailed as the eighth wonder of the world. The Brooklyn Bridge was the
first bridge to be electrically lighted and the longest suspension bridge in its day. It was built to link New York's Manhattan district and



Brooklyn District across the East River. Designed by a German immigrant engineer called John Roebling, it took 14 years to finish, at a
cost of $ 15 million and 20 lives, including Roebling's own fortune. The bridge deck measures 478.5 m across between towers that rise
82.8 m above the river. Side spans, 279 m long, connect the towers to the shore on either side. The Brooklyn Bridge originally had
carriageways, cable railway tracks and an elevated walkway. Today, there are six lanes for traffic on its 39 m wide deck with a million
cars crossing daily. The cable railway tracks were removed in 1944, but New YorKkers still stroll, bike or jog along the walkway, which
was restored in 1982.

‘Which is hailed as the world's eighth wonder?
1. The Howrah Bridge

2. The Suez Canal

3. The Brooklyn Bridge

4. The Taj Mahal

Correct Answer :-

® The Brooklyn Bridge

4) Read the passage carefully and answer the question given below:

“The Brooklyn Bridge” when it was completed in 1883, it was hailed as the eighth wonder of the world. The Brooklyn Bridge was the
first bridge to be electrically lighted and the longest suspension bridge in its day. It was built to link New York's Manhattan district and
Brooklyn District across the East River.

Designed by a German immigrant engineer called John Roebling, it took 14 years to finish, at a cost of $ 15 million and 20 lives,
including Roebling's own fortune. The bridge deck measures 478.5 m across between towers that rise 82.8 m above the river. Side spans,
279 m long, connect the towers to the shore on either side. The Brooklyn Bridge originally had carriageways, cable railway tracks and
an elevated walkway. Today, there are six lanes for traffic on its 39 m wide deck with a million cars crossing daily. The cable railway
tracks were removed in 1944, but New Yorkers still stroll, bike or jog along the walkway, which was restored in 1982.

Which river does the Brooklyn Bridge stretch across?
1. Missouri

2. Mississippi

3. East River

4. Ohio

Correct Answer :-

e East River

5) Read the passage carefully and answer the question given below:

“The Brooklyn Bridge” when it was completed in 1883, it was hailed as the eighth wonder of the world. The Brooklyn Bridge was the



first bridge to be electrically lighted and the longest suspension bridge in its day. It was built to link New York's Manhattan district and
Brooklyn District across the East River.

Designed by a German immigrant engineer called John Roebling, it took 14 years to finish, at a cost of $ 15 million and 20 lives,
including Roebling's own fortune. The bridge deck measures 478.5 m across between towers that rise 82.8 m above the river. Side spans,
279 m long, connect the towers to the shore on either side. The Brooklyn Bridge originally had carriageways, cable railway tracks and
an elevated walkway. Today, there are six lanes for traffic on its 39 m wide deck with a million cars crossing daily. The cable railway
tracks were removed in 1944, but New Yorkers still stroll, bike or jog along the walkway, which was restored in 1982.

When was the walkway restored?
1. 1972
2. 1962
3. 1982

4. 1952

Correct Answer :-

6) Read the passage carefully and answer the question given below:

“The Brooklyn Bridge” when it was completed in 1883, it was hailed as the eighth wonder of the world. The Brooklyn Bridge was the
first bridge to be electrically lighted and the longest suspension bridge in its day. It was built to link New York's Manhattan district and
Brooklyn District across the East River.

Designed by a German immigrant engineer called John Roebling, it took 14 years to finish, at a cost of $ 15 million and 20 lives,
including Roebling's own fortune. The bridge deck measures 478.5 m across between towers that rise 82.8 m above the river. Side spans,
279 m long, connect the towers to the shore on either side. The Brooklyn Bridge originally had carriageways, cable railway tracks and
an elevated walkway. Today, there are six lanes for traffic on its 39 m wide deck with a million cars crossing daily. The cable railway
tracks were removed in 1944, but New Yorkers still stroll, bike or jog along the walkway, which was restored in 1982.

How many years did it take to build the Brooklyn Bridge?
1. 14
2. 12
3.20

4. 15

Correct Answer :-

7) Read the passage carefully and answer the question given below:



Some people may have extra bones. There are 209 bones in the human body. Some people, however, have a few bones more while, some
others have a few bones less! The commonest extra bones are those which grow inside certain muscle tendons. These bones lead
completely independent lives, unattached to other bones. These bones are called sesamoid bones. Extra sesamoid bones may grow, for
example, in the tendons under the big toe. Some sesamoid bones, however, grows in everybody. One such bone, called the pisiform bone,
lies in front of the wrist. The largest sesamoid bone in the body is the patella. The patella is the circular bone in front of the knee; it is
also known as the kneecap. Extra bones may grow elsewhere, too. A few persons may have an extra pair of ribs, either above or below
the usual 12 pairs of ribs. These extra ribs may cause problems to health. For example, extra ribs growing in the neck can compress
important arteries that supply to the upper limbs.

‘Which is the largest sesamoid bone in the human body?
1. Clavicle

2. Patella

3. Skull

4. Thigh

Correct Answer :-

e Patella

8) Read the passage carefully and answer the question given below:

Some people may have extra bones. There are 209 bones in the human body. Some people, however, have a few bones more while, some
others have a few bones less! The commonest extra bones are those which grow inside certain muscle tendons. These bones lead
completely independent lives, unattached to other bones. These bones are called sesamoid bones. Extra sesamoid bones may grow, for
example, in the tendons under the big toe. Some sesamoid bones, however, grows in everybody. One such bone, called the pisiform bone,
lies in front of the wrist. The largest sesamoid bone in the body is the patella. The patella is the circular bone in front of the knee; it is
also known as the kneecap. Extra bones may grow elsewhere, too. A few persons may have an extra pair of ribs, either above or below
the usual 12 pairs of ribs. These extra ribs may cause problems to health. For example, extra ribs growing in the neck can compress
important arteries that supply to the upper limbs.

Where is the pisiform bone found?
1. In front of the wrist

2. Ankle

3. Ribs

4. Thigh

Correct Answer :-

e In front of the wrist



9) Which one of the following is the correct reported speech of the given sentence?
The boss said to the peon, "Bring the file.”

1. The boss was ordering the peon to bring the file.

2. The boss asked the peon, bring the file.

3. The boss ordered the peon to bring the file.

4. The boss told the peon for bringing file.

Correct Answer :-

o The boss ordered the peon to bring the file.

10) Read the passage carefully and answer the question given below:

Some people may have extra bones. There are 209 bones in the human body. Some people, however,
have a few bones more while, some others have a few bones less! The commonest extra bones are
those which grow inside certain muscle tendons. These bones lead completely independent lives,
unattached to other bones. These bones are called sesamoid bones. Extra sesamoid bones may
grow, for example, in the tendons under the big toe. Some sesamoid bones, however, grows in
everybody. One such bone, called the pisiform bone, lies in front of the wrist. The largest sesamoid
bone in the body is the patella. The patella is the circular bone in front of the knee; it is also known
as the kneecap. Extra bones may grow elsewhere, too. A few persons may have an extra pair of ribs,
either above or below the usual 12 pairs of ribs. These extra ribs may cause problems to health. For
example, extra ribs growing in the neck can compress important arteries that supply to the upper
limbs.

Where is the Patella situated?
1. In front of the knee

2. In the wrist

3. In the ankle

4. On the shoulder

Correct Answer :-

® In front of the knee

11) Read the passage carefully and answer the question given below:



Some people may have extra bones. There are 209 bones in the human body. Some people, however,
have a few bones more while, some others have a few bones less! The commonest extra bones are
those which grow inside certain muscle tendons. These bones lead completely independent lives,
unattached to other bones. These bones are called sesamoid bones. Extra sesamoid bones may
grow, for example, in the tendons under the big toe. Some sesamoid bones, however, grows in
everybody. One such bone, called the pisiform bone, lies in front of the wrist. The largest sesamoid
bone in the body is the patella. The patella is the circular bone in front of the knee; it is also known
as the kneecap. Extra bones may grow elsewhere, too. A few persons may have an extra pair of ribs,
either above or below the usual 12 pairs of ribs. These extra ribs may cause problems to health. For
example, extra ribs growing in the neck can compress important arteries that supply to the upper
limbs.

How many bones does a human being have on an average?
1. 209
2. 203
3. 506

4. 200

Correct Answer :-

e 209

12) Which of the following options best combines the given sentences?

It is not a good thing. Don't feed the animals in a zoo.

1. It is not a good thing in a zoo, so don’t feed the animals.

2. Itis not a good thing to feed the animals in a zoo.

3. Don’t feed the animals in a zoo because it is not a good thing.

4. In a zoo, it is not a good thing for feeding the animals.

Correct Answer :-

e Itis not a good thing to feed the animals in a zoo.

13) Choose appropriate articles for the given sentence:
stress of city life has effects on intellect.

1. The ... no article required

2. The ... the



3. No article required ... no article required

4. No article required ... an

Correct Answer :-

e The..the

14) Choose appropriate article for the given sentence:

She was faced with ___ unusual problem which could not be solved easily.
1. an

2. the

3.a

4. no article

Correct Answer :-

15) Choose the appropriate option that rewrites the given sentence in its passive voice.
The intense heat caused great friction.

1. Great friction caused by the intense heat.

2. Great friction was causing the intense heat.

3. Great friction was caused by the intense heat.

4. Great friction had caused by intense heat.

Correct Answer :-
e Great friction was caused by the intense heat.

16) Choose the appropriate synonym for the highlighted word in the given sentence.

I will have to find a way to adapt myself to the new requirements.
1. surrender
2. accommodate

3. replace



4, match

Correct Answer :-
e accommodate

17) Choose the appropriate antonym for the highlighted word in the given sentence.

There are approximately 80 million people living in France.
1. precisely

2. roughly

3. under

4. over

Correct Answer :-

e precisely

18) Choose the appropriate conjunctions for the given sentence.

I am still confused __ to run for the 100 meter's___ the relay.
1. whether... or

2. as...as

3. either... or

4, if... then

Correct Answer :-
o whether... or

19) Choose the appropriate determiner for the given sentence:

Although a wide variety of drugs are available to ease pain, people still fear taking them.
1. many

2. none

3. every

4, few



Correct Answer :-

20) Choose the appropriate prepositions for the given sentence:

Looking ____ the forecasts ____ the world’s energy demands ____ the future is pretty frightening.
1. beyond ... through ...in

2. at ... for ... for

3. at...in ... with

4,0on..at..on

Correct Answer :-
e at.. for... for

21) Choose an appropriate modal for the given sentence:

He swim in any river as he is very capable.
1. should

2. may

3. must

4, can

Correct Answer :-

22) Choose the option that best explains the highlighted expression:
Kumar opened his heart to me.

1. shared his deepest feelings

2. abused me

3. showed his scars after a heart surgery

4. revealed his heart

Correct Answer :-



» shared his deepest feelings

23) Choose the most suitable pronoun for the given sentence:
This book is better than cover would suggest.

1. their

2. mine

3. your

4, its

Correct Answer :-

24) Read the sentence carefully and choose the option that has an error in it:

He gone to the conference to learn about government contracts.
1. to learn about

2. to the conference

3. government contracts.

4. He gone

Correct Answer :-

25) Choose the appropriate tenses to fill in the blanks in the given sentence:

Keval in this office for the last five years and a sincere worker.

1. has worked... is
2. has been working... is
3. working... is

4. worked... is

Correct Answer :-

¢ has been working... is



26) Choose the appropriate tense to fill in the blank in the given sentence:

Rashmi is a violinist. She often at concerts.

1. is playing
2. will play
3. played

4, plays

Correct Answer :-

27) Rewrite the following changing the passive sentence to active.

Every disaster affected victim has been compensated by the Kerala government.
1. The Kerala government has compensated every disaster affected victim.

2. The Kerala government have been compensating every disaster affected victim.

3. The Kerala government has been compensating every disaster affected victim.

4. The Kerala government had compensated every disaster affected victim.

Correct Answer :-
» The Kerala government has compensated every disaster affected victim.

28) Choose the right tag:

They need some new clothes & toys as well,  ?
1. don’t they

2. do they

3. didn’t they

4. does they

Correct Answer :-

e don’t they

29) Choose the option that substitutes the given phrase appropriately.



Agreed to by everyone
1. Unanimous

2. Anonymous

3. Unify

4. Anon

Correct Answer :-

¢ Unanimous

30) Choose the right tag:

You remember me, ?
1. are you

2. aren't you

3. do you

4. don't you

Correct Answer :-

e don't you

Topic:- General Hindi(L2GH)

1) gfrai & arg=g § 91 @ 98 o et
3R gwferd-si-TeT § | § a8 it smeet
SRER 34T g, 41 € ag W ameH|
fHrerma =it @1 381 8, A ? 98 ot et
THS 991 78T 8, ) @ a8 ot smeehn

#fee o eme A 7€ @ T
Td & SATGHT § U SR gaansA |l
T34 8 et 8 P SR T i
3 3meH & It R & Sfaatil
SN ! dr8ar & 91 @ ag t smeHtn

ITfa U= B g I AT 7T 4y o1 IWR IS¢
- g e u a1 9 82



" 3

Correct Answer :-

2) N 99U § YA A QAT 8, 98 JaT § 3r@Te o1 g ¥ a1 A $9 dfra 35 gwar 82 wea1 8 o) Sud gui|
? 3R T U7 WIYRYT Y& 81 8, TR ad MR 7F A Rigns g3 ag A 2, B Taa1 W gern wrar 81 vaR o
T J& gy | R I &R 96 R ) ¥ fraadt B, 99 serft gail Wiew: e 81 Su«! nialRmal ga
Il &, ARTH A T8 &1 8T &, 3r@Ts # g IR WM i dess 3 1 fyyfasrd amar 31 frd Susd T’k
P T B TP IRR off @ ) 1 € a1 g3 B 1 IR 3R ) ) Ape TR FY SRAT WR 98 $O el ol
TPl § g 38 W &1 39 91 19 8 o Riae IRaw sftas & forg eiffard 8, 3w fardh @ € frea 8

ST TR BT UgHR - 3T T 7Y T IR 9a1s:

U= - TRgd 7T § a9 1 fpas! ugwn &1 9@ fHarg?
1. 4d

2. %d

3. A

4. Yd

Correct Answer :-

3) S gUUA ¥ Yo A VAT 8, I8 Ja § srare Ft gt F e A A dfra 78 awar 32 Tgar @ d@f s9et guie
? 3R T Ug WIYRT Y& 81 §, T ad MR 7F A Rygns g3 ag A 2, O Taar W gern orar 81 9ar
T g gy | A I &R 967 IR ) ¥R fraad 8, 99 smewt gaif Wigw e g1 Sus! wiaalRml ga
Il €, 3RTH T 98 &0 8IdT 8, 3r@Ts # gy TR WM o des? 3 &) fayfasrd evmar 21 ﬁ@wﬁ?mﬁ?
B TN ¢ TP TR N @ ) &1 € 791 g9 B 1 IR 3R FUSY ) AR TR FY SARAT IR 9§ $O Fel o
TPHar g g g8 W &1 31 F1 919 ¢ f e IRaw@ sftas & fore eiffard 8, 3 aa fardh & € firea &

ST TR B UgH - faT 1T uy #1 IR Ia13T:
= - fayfaerd # w32

1. 4%

2. 37Ut

3. A2
4, HHYRY

Correct Answer :-



4) ST 9999 H Yo | WAT 7, I8 Sar-1 H r@1e ot figt #§ 7 A B dfrd I8 Avan 32 gd1 3 df SHBT1 gui
? 3R T U7 WIYROT Y& 81 §, TR ad MR 7F A Rygns g3 ag A 2, o Taa1 W gern orar 81 9aR o
T g gy | A I TR 967 IR ) ¥R fraadt 8, 99 smerft pait Wigw e 11 S« wiaalRml ga
Il €, 3RTH T 98 &0 8IdT 8, 3r@Ts # g TR WM e dees 3 &t fayfaerdt avmar 81 frd) 39 =Rk
DI g ¢ TP IR ot Y Frdh 1 € 991 gom B 1 IR SR FS) 1 Ay IR P SRAT R 9§ $© FeT ol
TPl § g g8 W &1 31 F1 919 8 f Rrae IRaw@ sftas & forg eiffard 8, 3 aa fardht & € e &

IU TR B UgHR 1 faT 1T uy 1 IR 9a13T:
A - g 3t R fra fedgE @2

1.9

2. AT AR TZ T

3. 00 IR

4. 99 ¥

Correct Answer :-

. TARTZ Y

5) S g § Yo A VAT 8, T8 JaH A At Fi gt F g A R dfa 7 awar 32 g @ d@f 9wt gy
¢ 3R M Y§ WIURYT Y& 781 8, o d 3R #g A Ryzrs g% 9 Mg @, o S wR weman oirar 81 6w A
T & gAY | A & R 967 IR g} ¥R fraadt 8, 99 simewt gail Wigs e g1 Sue! wiaalRml ga
Iodl &, R A 98 g 8T 8, 3r@Te H gy IRl @M R Ay 3 &) fayferdt evmar 81 frd) 9o TR
B TN ¢ TP TR f @ ) 1 € 791 5o B 1 IR SR FUS) ) AR TR F SARAT IR 95 $O Fel ol
TPar g g a8 W &1 31 1 919 ¢ o e IRaw@ sftaw & feore eiffard 8, 3 v fardh & € frea &

IUa T B UgH e fAT ¢ Uy #7137 T418¢:
U - IR fPad s gan @2

1. et g

2. e d

3.da 9

4.gY 9

Correct Answer :-

6) Sl TUUT A Yo A Wl ¢, I STar A 3rEre F U A 9 A $/ dfta I8 har g2 T ¢ | SueT guiT
? 3R TN 9% WIURY Y& 81 8, IR 99 3Nk 73 | Ryzd g€ a8 ) &, P aa1 W =g o 81 SR
T J& gy | RAA | &R 967 R ) ¥ fraadt ], 99 et gait Wiew? e 81 Su«! nialRmarl va
Il &, 3RTH A T8 g 8T &, 3r@Ts # fAdg IR WM R deds 3 1 fayfasrdt amar 31 &@mw
P T B TP TRR off @ Frd) 1 € a1 g3 B 1 IR 3R ) ) A TR FY SR AT WR 98 $© el ol
TPl § g 38 W &1 37 91 19 8 f Ria? IRaw sftas & fore eifard &, 3 wa gt @ € frea 8



IUYF TR D UgHR A1 fAT 7T gy &1 IR Fa@13¢:
- <3r@TST BT 3 1 g 82

1. V-GG

2. e G-I

3. R

4, RGATS]

Correct Answer :-

7) N g Yo A QAT 8, T8 Ja A At Fi gt F g A R dfa I awar 32 g1 @ d@F 9wt gyl
? 3R T g WIYRYT Yd T8} 8, TR ad 3R 7F A Rigns g3 ag A 3, B Taar W gern srar 81 gar o
T @ g | AR § @R 9g4 1R fg) T fraerd! 8, 9 STl HaiT Wiad Ao gt | SH@! ARl oa
Il &, RTH A I8 & 81T 8, 3raTS # fAgg IRf @M R/ dess 3 1 fyyfasrdt amar 31 frd 39 TR
B T ¢ TP TR oft @) Frd) 1 € 591 3o B 1 IR SR FUS) ) AR TR F SRAT IR 984 $O Fel ol
THd1 2 g I8 W o 3 3t 91a 8 f R araw shta & g sifvard 8, 3 wa frd) 9 & frea 71

ST TR B Ugah A1 3T 1T Uy $71 IW a13¢:
- IR BT aiaard 181 82

1. §c

2.8

3. daq

4. B

Correct Answer :-

8) Sl S9UH ¥ Y q W 7, I8 war1 H s Ft gt & I94 I A dfera ¥g Fvan 82 54T & d SudT guie
? 3R ! g§ WIYRYT ¢d 6} 8, I a9 3R 0 | Rrgng g3 a8 gl 8, O Tgar W wemn wran 81 TR o
T J& gy | A I &R ¢ R ) A fraadt B, 99 serft gail Wiew: e 81 Su«! nialRmal ga
Il ¢, 3RTH A 98 B BT 8, 3RS § Fidg ari @M R ded oA &1 it ermar 21 ﬁ@mw
P T B TP IRR off @ Frd) 1 € a1 g3 B 1 IR 3R ) ) Ap? TR FY SRAT WR 98 $O el ol
TPHar ¢ g g8 W &1 39 91 19 8 f e IRaw sftas & fore eiffard 8, 3 v fardh @ € frea 8

IUY TR P UGHR A1 fT 7T gy o7 IR Fa13¢:
e - gui w1 faam w @2
1. UG

2. 379 A B TR



3. qHg
4. faYUmT

Correct Answer :-

. QYT

9) il T # Y A Well €, I8 w1 A TS P ) I A A dfRa 38 Tpar 22 o1 € o) STe gyt
? 3R T U8 WIYRYT Y& 81 8, TR ad 3R 7F A Rigns g3 ag A 2, B Taa1 W gern o 81 saR o
T J& gy | RAA | TR 967 W ) A frwadt ], 99 et gait Wiew: Ao 81 Su«! nialRmal va
Il &, RTH A T8 & 8T &, 3r@Ts # fAdg IR WM R dess 3 1 fayfasrdt amar 31 &@mw
P AT 8 TP ITRR off @ Frd) 1 € a1 g3 B 1 IR 3R ) ) Ap TR FY SrRAT WR 98 $© el ol
TH T 8 TRg I8 W o 3 3 919 2 Rram araw sita & g sifvard 8, 3 wa frd) 9 & frea 7

ST TR B UgdhR - 3T T 7Y 1 IR 941
W - §aUT AU 3§ -

1. U

2. g

3. fopam

4, U

Correct Answer :-

10) W §UUA H Y@ A WAT 3, 98 AT A TS ot g § I I $ dfd 7@ AHar 22 g1 8 df SIBT

U § SR T 98 WYURT Y e 8, 9 99 R 7z & Rrsns g3 a8 Y 8, o aa1 R wern wran 21

wﬁﬁwmﬁgﬁm R A R ge4 W E W puadt 2, 99 et Faif Tew Fwar g1 st

AITIRMT Ta ot 8, 3R | 98 T g1 8, am@ﬁﬁigaﬁaﬁﬁaﬁmamﬁaﬁﬁmmél

ﬁﬁwﬂmﬂ?aﬁm%aﬁﬁiwma’rﬁ@miﬂwgan%lmﬂ?aﬁ?ﬁé’taﬁawwaﬂmw

%?WWW%WWmmaﬁaﬂaﬁ%%ﬁmﬁmaﬁﬁaq%ﬁmarﬁm&%ﬁwﬁ@ﬁﬁ
|

ST TR BT UgHR - 3T T 7Y T IR Fa1s:
W — IR} @A Rd & &A1 BT 3 g2

1. IR fe=mredi &1 Hifeidh g

2. facamr gfg

3. SWRIGd It

4. ‘{UfH:UQT%IHWE:lT

Correct Answer :-



11) Wt S99 H Y A WA 3, 98 a1 A e ot g ¥ I | $ dfa 7@ GHar 22 g1 § df S9HT

Ul § 3R Tm 9% WIYR Y@ T8 ¥, I aa R w7y ¥ g g 7 U ?, P Sgar w e S B

TR ® T g@ gy WA ¥ @R ge7 W U} 3 fruadt 3, 9 snerlt gaif @eax Foar 8 sawt

HiTIRA oo m%mﬁﬁw@m%mﬁﬁiﬁaﬁ@ﬁﬁmwmaﬁﬁmmél

ﬁﬁmw#rm%mwma‘rﬁﬁmﬁwgaﬂ%lw\sﬁvﬁé’raﬁamwaﬁmw

%@%—gswmm%uﬁu@mmﬁaﬁaﬁaﬁ%ﬁ?ﬁﬁﬁwaﬂaﬁ%ﬁmaﬁm&%ﬁwﬁ@ﬁﬁ
|

IUE TRIIRT B UGHR -1 fAT 7T gy T IR IA18T:

UH- IR’ BT YGigqre g 81 82

1. Sita

2. fay

3. gfan
4, JglUs

Correct Answer :-

12) Wt S99 H Y A WA 3, 98 a1 A e ot g ¥ I | $ dfa 7@ o 22 g1 @ df S9HT

Ul § 3R Tm 9% WIYR Y@ T8 ], I aa R 7y ¥ g g 7 g ?, P Sgar w e S B

TR ¥ T g& oy WA ¥ @R g6 W U} 3 fruadt 3, 9 snerlt gaif e Fwar g Iawt

HITIRAT B Iadt 8, 3RTH A 98 X S8, mﬁﬁﬁaﬁ@ﬁﬁawmaﬁﬁmmél

gt Sud TRR 3t g9 § s IR W <t frgh &1 € 91 gon 71 IR SR gt ot das IR A SRIRAT R

%@%—gswmm%uﬁu@mmﬁaﬁaﬁaﬁ%ﬁ?ﬁﬁﬁwaﬂaﬁ%ﬁmaﬁm&%ﬁwﬁ@ﬁﬁ
|

IUE TRIIRT B UGHR -1 fAT 7T gy T IR Ia18T:

U - WRgd e &1 i fde g goar g2

1. o

2. SitaA

3. 9OR
4. {3T

Correct Answer :-



S 9999 | Yo A QT 3, 98 SaH1 | ErS Dt fHg d 99 8 $A dfd I8 Jbar 32 ¥gdr § d 3BT gHia 3
3R N TE FIURYT Y& T8I 8, I et 3R 73 A Rigs g3 98 A B, Ford Saan W =rgran siren 81 How A T
@ gay | TR A @R 969 W S 0 frwradt 8, 9 el el Wieas e 8| Sust aimifRmal o 3sdt
€, 3R A 98 & gia1 8, sraTs # fAdy arR) @ RN dear oA &1 fayfasrdt evmar 81 frdt Sud sk &t
AT 8 Faifr IR Ot A gt &1 €1 o g 31 IRR oY firdh o1 Ao IR 3 SRIRAT WR 989 $© $aT o
TPl g g g8 W &1 31 $1 19 8 f e IRaw@ sftas & fore eiffard 8, 3 v fardh 3 € frea &

IU TR B UgHR 1 faT 1T uy 1 IR 9a13T:
TR - U8 Y St 82

1. fafre

2. 3fitht @t Yo

3. 9

4. 9D B Y

Correct Answer :-

14) & AU H YT A [T 8, 98 FaF # rare Ft ) § g A FQ dRra 5 a@ar 32 Igar € o) 7@

U § SR TN 98 AIYRT Y e 8, 93 da 3R 7z & R g3 ag Y 8, o aa1 W wern wiran 81

wﬁﬁwwgﬁm T ¥ ® g6 R ) W frgadt 3, 99 el FaiT Wiesd Ao g sqa!

HITRMET Bat ISt &, 3R | 98 g 8T 8, Mﬁﬁﬁaﬁraﬁﬁﬁwmaﬁﬁmm%l

fﬁ@w%mﬁwﬁm%mﬂﬁswma‘rﬁ@mﬁwgm%lWﬁﬁ@aﬁﬁwwaﬂmw

%?WWW%WWﬁmﬁﬁm%%ﬁaﬁm%%ﬁm&ﬁaﬁ?ﬁwﬁ@@ﬁ
|

IUe TR B UghR 1 faT 1T uy #1 IR 9a13T:

W= - Sfia & Rraa it sifvrardf arew & 3 fras e @2
1. gt g

2. pRAT Y

3.qUd

4. 9gHE Y

Correct Answer :-

15)ﬁmﬁwﬁ@m%,agmﬁﬁsm¢ﬁﬁ@ﬁ ¥ $Q dfea g o1 82 8T § o STBT
gui g 3R T 9 WURY Y& T B, IR aa Nk "y A fugns g3 ag A 2, O Taar W gern Srar B
TR ¥ T Q@ gaH| TR @ @R geq W g 0 frwadt @, 99 et paif Wiewx fHear g1 sast
AR T Iad1 2, AR A 98 &30 81T ¢, 3rETS § g ar) @M R deas oA 31 fyyfsrdt avmar 21
) 39 IR F 71 | RSP IR o @ Frd) 61 € 371 g 31 TR SR AT ) ) TR F sRaT R



%?WWW%WWﬁmﬁaﬁm%%ﬁaﬁm%%ﬁ&ﬁaﬁ?ﬁwﬁﬁﬁﬁ
|

SR T B UG A1 3T T 9y F71 IW 3¢

TH- 3RIRAT A T aTeqd 82

1. fafRryar

2. Y HTTIRG

3. HHdd

4. g5

Correct Answer :-

. I PHTIRT

1s)ﬁmﬁ®ﬁ@m%,agmﬁam@aﬁﬁ@ﬁ q A dfra 7@ THar 82 edT § @ IFPT

U § SR TN 98 AIYRT Y e 8, 9 da 3R 7z & Rrgng g3 ag Y 8, o Saa1 R wern wiran 21

wﬁﬁwwgﬁm T ¥ ® g6 R ) W frgadt 3, 99 el FaiT Wiesd Ao g sqa!

HITRMET Bat ISt &, 3R | 98 g 8T 8, Mﬁﬁﬁwmﬁﬁwmaﬁﬁmm%l

fﬁ@w%mﬁwﬁm%mﬂﬁswma‘rﬁ@mﬁwgan%lmﬂvaﬁ?ﬁ@aﬁﬁmwﬁmw

%?WWW%WWﬁmﬁﬁm%%ﬁaﬁm%%ﬁm&ﬁaﬁ?ﬁwﬁ@ﬁﬁ
|

IUa TR B UgehR 1 fAT 1T uy o1 IR 9a13T:
TRA- 3R | g g1 8 A F1 A1 32

1. fR-¢R SRR HRAT 5|

2. RTIEHIH BT g |

3. PP BT & |

4. Aol & SRR FRAT5 |

Correct Answer :-

. IR SRR PRATBI

17) gfrai & S1eens 8 W) 7 9% W emeHt
3R gwerg-aN-TTeT § | § a8 Wi smeet i
SRER 9941 8, W' & % off emei|

ferma st @ veT 8, | © ag ot emeetn
THS T 3ET 8, 1 § 78 i smaetn

#fere Y et A 991 © Ti frT
Tq & Simet & 3HTH 3R e |l
Ued & 3met € HH SR TH Tl



3R 3MTGHT 31 I TRId 7 it il
il S arsdT g It @ a8 Wt amaEf

ST TR o1 g A1 AT 7T Uy 71 IwR 9a13¢ -
WS- UKJd BT &1 T A 2 @ g

1. QG

2. STGHMET

3. STCHTER

4. dIRMeHI

Correct Answer :-

18) gfrai # aTqens 8 W & 9% Wi emeHt
3R W ierd-3i-7TeT 3 1 § a8 o smeet
SRER 941 €, 9 € 98 i 3meeti

ferma St @ veT @, | @ ag ot emeetn
THS TaT e 8, A @ a8 Wt s

wfesre Y ameet A 991 @ Ti frad
T4 ¢ 3meHl 83Uy SR YaarsAi |l
ugd 3 e 8 PR SR T Al
3R et € It TRTa € Sfaar
SN 39! drear & I @ 98 Y et

ST U BI Ugdh A1 AT 71T Uy o1 IR 9a15¢ -
W - SUNT Mg &1 a1 S grar 82

1. §9FaT

2.UR

3. HHR

4, gHHH QRifgd

Correct Answer :-

- HHAHM R

19) gfrai & a1gzme 3 W § 9@ ot et
3R gwierd-sil-TTeT 3 41 § a8 Wt smeetl
SRER 94T 8, 9 § 98 i st

3T <Y @1 ¥eT 8, 1§ 9 off smetl
TPS Ia1 V6T 3, 91 8 98 i et



Ai™TE o emeHt A 79 & ai o)
T § 3reHt € 3HTH 3R gaarsH |l
Tgd § 3meHt 81 PR 3R A Al
3R et g 3t TRIa & Sferti
S IT6! ar8a1 & 91 8 a8 W st

ST TR H1 g A1 AT 7T Uy 71 IR 9a15¢ -
W - SRER’ XTeg T T 34 32

1. Qfed

2. YA

3. e

4. TRIq

Correct Answer :-

20) gl A aTeRTE § W) 8 9 oft smerh
3R W id-3i-7TeT & 1 8 a8 ff emeet
SRR 3141 7, W § 9% ot st

f3ra ot @1 YR 8, A1 8 ag ot emeri
THS TAIET 8, 9l @ a5+t ameeitn

afese oft smreeft A 91 @ i fr

Tq & Simet g 3HTH 3R e |l

TG 8 SaH 81 P SR THI T

3R 3meHt § 3! R & St

SN 9P drsar & I € a8 W et

IUYa U=IIRT ) Ugd - fU T8 Uy o1 IR Fa13¢
U TP 1 afaardt Weg 71 E 32

1. fg=am

2. 90

3. HIT

4, 30

Correct Answer :-

21) gf~rai & srexng & |1 7 98 ff smeHt
3R e irg-sit-Trer g 9t 8 ag it smeriin
WRER 341 ¢, | § ag WY smgHt



frera < W1 YeT B, 91 § a8 ot smeti
ThS IaTIET ¢, |1 € ag ot amee

wfrg it et A w=11S © i R
T4 § 3meHt € 3HTH 3R gaarsH |l
Ugd g STl 8 PRI R A Ui |
3R et g 3t IRIa & Sferti
il 3! arsdT § 11 @ g Wt st

SUY Ui BT UgHR A1 fAT 7T Uy HT IR 9a13¢ :
U - WGTE MG @ ?

1. Tpdd-

2. fgaem

3. TR AR T

4. 9gaa

Correct Answer :-

22) gl A areRE § W) @ 9 oft smerh
3R gwera-a-TTer § A § a8 Wt smewt
SRER 3741 8, T ¢ a8 +t ameeh

fema st @r TET 8, 9 @ 98 it ameHtl
THS AT IET 8, 11 @ 98 °oft smerhin

nf&rg oft et A 941$ @ ui for |

T4 § et € 3uTH SR e |l

T3 § ameHll @ g ok T T

3R 3meH! & 3! TR & Sfaari

SN 9P drsar & I @ a8 W et

SUY TR B Ugh< I f&T 7T UY HT 3 9a13¢ :
TH- P U 82

1. g

2. IS

3. foran

4. faQyor

Correct Answer :-



23) gl # 91qRIE 3 1 8 a5 Ui smeHt|
3R W ierd-3i-7TeT 3 1 § a8 o smeet
SRER 91T 8, |1 @ 98 *ft ameHti

ferma St @ veT @, | @ ag ot emeHtn
TPS IaT 61 &, 91 8 a5 i st

AfRrg ot erreHt A 791 8 ai ot
Td § STeHt § FHTH 3R gaansA |l
ugd 3 e 8 PR SR T Al
3R et € It TRTA € Sfaari
S 3P aTSa1 & A1 @ 98 ot smeHii

ST U ®1 Ugdh A1 AT 71T Uy o1 IR 9a15¢ -
UH- Yo ferd-3N-TTer I o1 areqd 82

1. Y7dT

2. ¥

3. HHR

4. dlqRIe

Correct Answer :-

24) gfrai & arqxg 8 4 € 97 Wt smet
3R gwiera-an-TeT & 41 8 a5 + smeetl
TRER 94T 3, I § a8 it ettt

frama oY @1 81 &, W § 9% o smeE i
TS IaT 6T ¢, 1 8 a8 Wi smesti

#fere Y et A 991 © Ti frT
T4 § SMTEH g S 3R aarsAi |l
Ugd & 3met € HH SR THW Tl
3R ameHt & S IR & s(fat
SN 9P drsar & I € a8 Y et

SUY T U=l B UgpR A1 fT 7T ¥y &7 IWR I8¢ :
- ‘g g TaHT YgTay BT 3 7 -

1. Sfc-gic HR GHI

2. ArS-AISHR IS

3. ISP Il

4. QI P §HT IR ]

Correct Answer :-

. GBI IGH W U



25) gf-rai & srexng & |1 7 a8 *ff smeHt
3R gwfera-a-wer g I § ag ot smeeht
SRER 99471 €, | € 98 Y et

fera it @ veT 8, W § ag ot emeet i
TP T91 8T 3, 11 8 5 i smaetn

i off emeHt A 79 & ai ot
T4 § 3meHt € 3HTH 3R gaarsH |l
Ted ¢ 3met € He SR THW i
3R et § S IRTA & St
St I dredr ¢ 9 g a8 o sl

ST U= B UgdhR - fT 7T ¥y &1 IWR 9413 :
T “3MEHD T &7

1. fag=it

2. IH

3. Tad

4. GRTSI

Correct Answer :-

26) gl A aTeRIE § W) § 9% oft smerh
3R W ird-3i-7TeT & 91 § a8 o smeet
SRER 9747 8, | € 98 *ff ameHti

frerma st @TveT €, 91 ¢ 98 ot et
TPS IaT 6T &, 91 8 98 Wi smeti

wfere Y et A 991 @ Ti frad

T4 § et € 3uTH SR e |l

Ued & SmeHt € HH iR U |

3R 3meH! & 3! TR & Sfaari

SN 9P drsar & I @ a8 Y et

SUY TR B Ugh< I f&T 7T UY HT 3 9a13¢ :
UH- ‘FIeRTe’ Mok R A A T @?

1. gfeeiT

2. TAIRHT

3. 3TH A PIS Te

+ T

Correct Answer :-



27) gf-rai & srexng & |1 7 98 *ff smet
3R gwiera-ai-mer g I g ag ot smeeh
SRER 3941 8, |1 § a8 WY smeHli

fera ot @ veT 8, | § ag ot emeHtn
TS I91 7ET B, 1 § e ot ameetn

i off emeHt A 7€ & ai ot
Td § SrrgHt €t 3HTH 3R gaansH |l
Ted ¢ 3met € e SR THW 4|
3R e € I IRTa & wfeat
St I drsdr ¢ 9 8 a8 o el

ST U= B UgdhR -1 fT 7T ¥y &7 IWR 9413 :
w=A- Sfoal W 82

1. hddd

2. fga=m

3. WRIad gt

4, dgdd-

Correct Answer :-

28) gf-ai ¥ 91ezmg @ |1 g a8 ot smett
3R Hwierd-3il-7TeT 3 91 § a8 o smeet
SRER 9147 8, | @ 98 *ft ameHti

frerma st @ veT €, 91 ¢ 98 ot smet
TPS IaT 6T &, 91 8 a5 I st

AfRrg oft erewt A 79 8 ai ot

T § SrreHt € 3uTH 3R gaarsH |l

Ued & SmeHt € HH iR T |

3R et € It TRTa € Sfaar

S 3P a1Sa1 & A1 @ 98 ot ameHi

ST UL I Ugdh - T T Uy T IR 9415 :
WS- YRgd Hiddl § Hfd 7 et & f6=1 =i o1 qui+ fwar
1. A 3MGH! DI THTGTS BT

2. HId SMGH B BT Bl

3. hdd SMGH! B HHT3{ BT

4. IWiad gt



Correct Answer :-

o SWRIad Tt

29) gl ® sTe=ng & |1 7 98 f smeHt
3R W ierd-3il-7TeT 3 91 § a8 o smeet
SRER 99471 €, 9 € 98 Y ameeti

frerma St @ veT @, | @ ag ot emeHtn
THS TaT eI 8, A @ a8 Wt s

wfeg +ft aredt A =€ @ i fr
T § 3reHt € 3HTH 3R gaarsH |l
Tgd & SeHY g PRI SR T i |
3R et § ST IR & v
S IT6! ar8a1 & 91 8 a8 W st

ST U= B g A1 AT 7T Uy 71 IR 9a13¢ -
- Frat &1 ot R & 3 B adh ard feg 31 -
WRIIGIES]

2. JUHYE

3. HETHRA ¥

4. S3A Y

Correct Answer :-

30) gfai ® 91g3Ng § W1 § 98 e
IR g ferd-3il-1eT 3 41 § a8 ot smestl
SRER 99747 8, |1 € a8 *ff ameHti

ferma st @ veT 8, | © ag ot emeetn
THS TA1 Y71 8, 91 8 95 W smet

uf&rg oft et A 9418 8 ai fr

Ta & et g 3HTH 3R el

Ugd ¥ SmeHl § $RH 3R T Tl |

3R 3meHt & 3! Ra & St

SN 9P drsar & I € a8 Y et

I URIIRT ) Ugdh - fU T8 Uy o1 3WR §a13¢ :

- U Ufaa § eieHl & for1-fe1 =l 3t amen &t Wit 32
1. Had ghiad

2. I dIGRTE

3. B9 SRER



4. IWRad gt

Correct Answer :-

o SWRIad Tt

Topic:- Mathematics (MAT)

1) If xy=1 then factorization of x+y+2is: /
gfe xy=1 @ X+y+2 BT U %:

1. (x+1)(y+1)

2. (x+1)(y-1)

3. (x-1)(y+1)

4. (x-D(y-1)

Correct Answer :-

o (x+1)(y+1)

2) Match the following:-

i. 1 added to x a) -5q

ii. 8 subtracted from p b)x+1
iii. -5 multiplied by q c)p-8/
Frafafaa &1 e 3:-

ixd1 Gﬁ%’-‘ﬂ a) -5q

ii. p ¥ 8 eI b)x + 1

iii. -5 P q ¥ O BT c)p-8
1.i—b,ii—a,iii—c
2.i—b,ii—c,iii—a
3.i—c,ii—a,iii—b
4.i—c,ii—b,iii—a

Correct Answer :-

e i—b,ii—c,iii—a

3) All round development of a child is reflected through ./

U 9= $T gaihr faerd & HreaH | yRaferd gian gl



1. Anecdotal record / Q(‘Ii(‘l (Q"IOI'S\ICN) 3ffHeRg

2. Case study record / fediTd e m E?ﬂ) 3fyeRg
3. Cumulative record / TerRdt Hferg
4. Scholastic record / ﬁﬁ% 3fHeRg

Correct Answer :-

e Cumulative record / T} 3ffHeRa

4) If two cubes each of edge 10 cm are joined end to end, then the surface area of the resulting
cuboid is ./

10 I fFIR 91 & v v RRY A 98 &, A aRomft ey s qdfiw e R
1. 1500 sq cm /
1500 T St
2. 1000 sq cm /
1000 T St
3. 500 sq cm /
500 & Tt
4.750 sq cm/
750 ¥ AT

Correct Answer :-
e 1000 sqcm/
1000 T I+t

5) What is the number of the diagonals we can draw from one vertex of a polygon with 11 sides? /
11 YoII3it AT SgYS & TP N A 59 fpan fawof iffa o awa 32

1. 8

2. 10

3.9

4.7

Correct Answer :-

e 8



6) Which of the following statements is NOT true about whole number? /
Frafafaa & 3 yf Jensi & dau & S19-31 $Y= 99 781 82

1. 0 is a counting number but not a natural number. /

0 U IO 1 TRSAT §, Afch Th YT IReAT Te1 5 |
2. The whole number 0 doesn’t have any predecessor. /
qUT TR 0 BT BIg gdad! & Tal gl g |

3. The additive identity of all natural numbers is a whole number. /

Tt UTgrd TReATaft Bt AT THReUdT U ot TRem g1t 5|

4. The predecessor of the first two digit number is always a single digit number. /
UG &I 3Hehi ) TG B Yaael TReAT UM U b 1g T giell 3|

Correct Answer :-

« 0 1s a counting number but not a natural number. /

0 U TUMT I TRSAT §, Afch T UTghd IReAT Te1 5 |

7) Which one of the following statements is true about integer? /
Frafafaa & ¥ si9-a1 Fy= ife & d9y § 9@ 82
1. On dividing a negative integer by a negative integer we get a negative integer. /
TP BUTHS QUi Bl T BUMHS QI J fIUTRIT B TR 89 HUNeTd qUiies U gl §
2. On subtracting a negative integer from a positive integer we get a positive integer. /
TH YD QUTieh o U BUTHSD QUITH &I ge IR g8 Ud YT Juifes U gl g |
3. When a positive integer and negative integer is added we get a negative integer. /
& U YT QUITe TR UMD UITh bl SiST STl § dl 88 Bl YUlids UTed gl 3|
4. On multiplying a negative integer with a positive integer we get a positive integer. /
TP BUTHS QUTh & 1Y U Y-S JUifeh B! 0T 3 TR gH 4TS YUl U i g |
Correct Answer :-

» On subtracting a negative integer from a positive integer we get a positive integer. /

TP YIS QUITh o U HUNED YUIfch B I TR §H T YT T U gial 3|



8) Which one of the following statements is correct about number? /
fFrafafea & & o9-91 $Y7 §En & @9y § 99 32
1. Nine is a prime number. /
T T T B
2. There are only 9 prime numbers below 20. /
20 9 R Hae 9 U TSI 5|
3. Every number is a multiple and factor of itself. /
T TS WY BT T U 3R U Biall 2
4. Number of multiples of a given number are finite. /
& TS T & U B! ST WA el 5l
Correct Answer :-

» Every number is a multiple and factor of itself. /
TS T W BT T U1 37R e Bldll g

9) A train covers a certain distance at a uniform speed. If the train had been 5 km/hr faster it would
have taken 1 hour less than the scheduled time. And if the train had been slower by 20 km/hr, it
would have taken 6 hours more than the scheduled time. Then the distance covered by the train is:

/
TS ¢ U JUH 91 | gard! g5 U [Hda gff aa st 81 afe 39 5 frrft/ver a ara @ gadt @ o a8
fArytfea Tw7a @ 1 9e1 F7 At @ o afe o7 20 fH/ger et wfa | wrerdt & & Fruffva Twa @ 6 W ot
At B, o 7 a7 Y WA g 3
1.2240 km /
2240 Tt
2.2000 km/
2000 foat
3.1050 km /
1050 fopeit
4, 1080 km /

1080 T HT

Correct Answer :-
e 1050 km/
1050 fopet



In the given figure, if 2C=40°, then £A and £Bare:
B

A B

& a5 iy &, afy £C=40° 8, a LAvd LBE:

50°.90"
1.

100° 40°
2.

40°,100°

90°_50°
4.

Correct Answer :-
40=.100°

11)
In a circle centred at “A°, the angle between AB and AD is 80° where points B and D lie on the
circle. If Clies outside the circle and CB and CD are the two tangents . then the value of angle

BCDis ./
A %% a1 UF ded H, AB Td AD & &1 @l &Io1 80° §, 58T fdg B U4 D ged W
feorg §1 37§ C gcad & g & g § @ CB 3R CD g ¥aei@r g. df &1 BCD

AT B

110°

100e
2.

120e°
3.

90

4.



Correct Answer :-

100°

12)

AAEC is an isosceles triangle in which AF = AC. Pis a point inside the AAEBC such that
APE( is an equilateral triangle .If £4 = 30°%then find £ABP.

aﬂgcwma@ﬁgaéﬁﬂﬁme:m Bl AABC® 31y U fdg P 50 oG ¢
%apﬁcwm@'ﬁajaﬁl qie 24 =30°%, dF £4ABP T I

A50
1 45

15°
2.

350
3.

25"
4,

13) 1y ADEF 2 D=60°_2F=50° then /

ADEF#, 2D=60°,F=50°@r:
1. FE>DF>DE
2. DE=FE=FD
3. DE<DF<EF

4. DE<FE<DF

Correct Answer :-
« DE<FE<DF

14)

Ifthe sum of the squares of zeroes of polvnomial 6x? + x + k is % ,then the value of kis____

AE TGUC 6x7 +x + k F YrIHl & @At o AT = R A kHF AG R



3.2

4.3

Correct Answer :-

. -2
15) . ) A %
Find the value of x° -I-x—nwhenx i 2.
Sd x —- =28, @ x?+ S & AT A W
1.2
2.8
3.6
4. 4

Correct Answer :-

16)

[f the tangents PA and PB from a point P to a circle with centre O are inclined to each other at an
angle of 80° then #POA=__

gfe veh fdg P & & “O" &g arell Uah dod &l af Tl Y@ PA ur PB Tdh-gaX &
80° & o1 X A §, df LPOA= |

g0
1.

50e°
2.

250
3.

30
4,

Correct Answer :-



17)

The average temperature of Mondav, Tuesdav and Wednesday was 40°C. The average
temperature of Tuesday, Wednesday and Thursdav was 41°C. If the temperature on Thursday
was 42°C, what was the temperature on Mondav?

HIATR, AITGTGR U gEaR &1 3ia QAT 40°C A1) FHIAECE gEdR U4 T&aN &
sfrad amgAT 41°C om| AT FEAR &1 AT9ATT 42°C o1, dF WAGR HT ArgATeT foheloll
ar?

41°C
1.

38°C
2.

40°C
3.

399C
4.

Correct Answer :-

309

Find £A+ 2D & £B + £C of a cyclic quadrlateral ABCD in which
LA=3x-1 /B=y2 2C=2v+6&D=5z+7 1/

T&h ThIT Tgae ABCDH A +./DUF ¢«B+2C A &,
o £A=3x-1, s/B=vy2 +C=2y+6UWd +D=5x+7 gl

206°, 154°
200°, 160°
E75% PBST
168°, 192°

Correct Answer :-



206°, 154°

19)  An exterior angle of a triangle is 135° and its two interior opposite
angles are equal. Each of these equal angle is:

T FAefal &1 G HI0T 135° § TUT 58S af 3d: T HIoT
A Bl 598 ¥ US FIT &

47 ¥
1.

52 4e
2.

67 ¥4°
3.

450
4,

Correct Answer :-

67 14°
20)
Find the value of x in the given figure.
X
0 50/°\23
A B s
/Er IS HTHTa A x FT AT A H
130°
1.
85°
2.
110°
3.
907



Correct Answer :-

85"
21) . 2. 5 2 By 2y
The propertv that allows to calculate (5 * E) + (5 * EJ T I
=S - 2. 6.2 .

1. Associative property /

qrgad ToT
2. Distributive property /

[CRAURIY

3. Closure property /
REIERI
4. Commutative property /

AT 07

Correct Answer :-

« Distributive property /

22)
InAABC, 2C =90° , BC=AC=3y/2,then AB= ./

AABC #. 2C=90° ,BC=AC=3y/2 ,dTAB=

1.5
2.7
3.8

4.6

Correct Answer :-



In a quadrilateral ABCD, # A+ #Cistwo times £ B++D_If
ZA=140° and » D=6(F _ then »C=7

UF TG ABCD#, LA +£C. £B + 4D &I g gl
afe A =140°31R 2D =60°dr 2C=?

L 60°

100°

Correct Answer :-

100°

24)

Geetha had Es 600 She spends§ of her money on note- books, é of the remainder on

: : 3 : , : :
stationarv items and = of the remainder on cosmetics. How much money is left with her?

aMar & U 600 T | G AegdH W AT I & - e A | AV F - 3R
WWW&WE%@W%IWWWW&WH%‘?

1. Rs 120/
120 %44
2. Rs 200/
200 ¥4u
3. Rs 300/
300 ¥4UU
4. Rs 320/

320%4U¢

Correct Answer :-

e Rs200/



25) Choose the number not divisible by 11. /
11 9 fawrfora =Y 817 areft e &1 99 +¥)

1. 1230321

2. 50169306

3.902154

4. 6138165

Correct Answer :-

e 1230321

26) ABCD is a parallelogram and the midpoint of the sides of ABCD are joined to form another
parallelogram PQRS. If the area of PQRS is 20 cm?, then the area of ABCD is ./

ABCD U% JUHIAR Tgsl & 9uT ABCD & Y=ii3il & weafdg frass & 3=y wamiar agys PQRS @1 fmfor
Pdl 21 afe PQRS T &A% 20 AHI2 §, 9 ABCD 1 &3%d gl

1. 80 cm? / 80 T2

2. 40 cm? / 40 T2

3. 100 cm? / 100 T2
4. 1600 cm? / 1600 THT2

Correct Answer :-

o 40 cm? /40 TH2

27) A numeral is the ./

TS USiH gl

1. position of an element in a sequence / Y 3{ch H ﬁ U dcd ﬁ ﬁlﬁf
2. symbol to represent a number/@@%ﬁﬁﬁlaﬁm

3. cardinality of a set / Udh JH=Y &t UHA I

4. none of the above / SWRIed T Gb\l'i::@:[

Correct Answer :-

« symbol to represent a number/@ﬂ'@T%mWW



28) There are 100 cookies in a packet. If there is ‘m’ packets, then total cookies can be written as: /
T® Udbe T 100 TP 8| i Gdbel 3t &I 'm’ §, A HIoll Bl Hol IB B fan o Java 3:
100
m
1.
2. 100m
3. 100 + m

4. 100-m

Correct Answer :-

29) ‘Gitika’ by Aryabhata is a collection of: /

Vg gRTWRgd Wd®dr &1 U We ¢

1. Kalakiya — Work on time and measure / HIAHIT-THT 3R HIYT TR HT
2. Problems on Arithmetic / 3BT TR Fermadf

3. Gola (Sphere) / IS

4, Astronomical tables / T HTW

Correct Answer :-

e Astronomical tables /@Th?ﬂq (‘llla$|ﬁ

30) Micro Teaching technique was brought to India by

& ST (ATt IR dPte, HRd # FNEIERIER
1. Atkinson / @m:f
2. BX . Passi / §l.p. Ut

3. Allen / UddH
4. Anderson / Q' S

Correct Answer :-

e BXK. Passi /Eﬁ$ oIS



31) Unit plan for teaching mathematics is done in the ./

Tford fRraror & forg g1 Frern # 31 aTdt 31
1. post-instructional phase / W-G‘lﬂ%ﬂw IR

2. pre-instructional phase / -3 ja-‘ll [Hop TR

3. teaching-learning phase / fRrerur-31feTH =Rur

4. evaluation phase / HedTh~ IRTT

Correct Answer :-

* pre-instructional phase / Q’f-&rﬂ%‘\frw RT[

32) Thorndike's ‘Law of Readiness’ is made use of in the / tﬂw & “qURAT BT
o &1 Sua # forar wiTaT 81

1. Unit Plan/ E’G’Tr’if IS

2. Lesson Plan / UT& OIS

3. Home Work /]g Gap

4. Preparation of objectives / B%’Q’Cﬁ &t %mﬁ

Correct Answer :-

e Lesson Plan / UTd IS

33) 2x+3y=10 has: /

2x+3y=10 &T:

1. No solution /
®IS B eI 3

2. A unique solution /
LEACRI R

3. Only two solutions /
Pa I BAG |

4, Infinitely many solutions /
3T I P55 G|

Correct Answer :-



« Infinitely many solutions /
3 EY S §A 5

34) Mensuration integrated with geometry makes drawing of regular shapes introduced to children in
four ways -

1.aesthetic

2. approximation

3.comprehensive

4. association

This is known as /

STl & 1y Jafea afifa 3 fFrafta snefaal @ Yt a9 ot a1 & e ar
TP I Ugd §¢ -

1. goferguf

2. gfa®wed

3. U

4. AgTd

W FErdTETEL

1. Technique of approximation / gfFdhcd Dl dbldh

2. Technique of mathematization / HIUGICRUEICEIED
3. Technique of quantization / gRATIHR T dh-ildh
4. Technique of ideation / IR &t dB-id

Correct Answer :-

« Technique of quantization / URHTUNIHRUT bl dh-idh

35) Choose the pair that is not twin prime. /
I T BT I B3 Sl TG UG T8l 2|
1. (91, 93)

2. (59, 61)

3. (41, 43)

4. (101, 103)

Correct Answer :-



. (91,93)

36) If PQ and RS are two equal and parallel chords, the distance from centre to PQ is 5 cm, then the
distance between PQ and RS is: /

gfe PQ 3MR RS &) SRTER 3R IR a1 §, F5 A PQ B1 gt 5 At 3, A1 PQ SR RS F fu st g =1 &:
1. 10 cm/
10 Gt
2.25cm/
25
3.2.5¢cm/
2.5 Gt
4.5cm/

5 9

Correct Answer :-
e 10cm/
10 It

37) Vedanga jyotisha in astronomy was compiled in 1200BC by )

T A A g AU B 1200 SATQE & gRT Gopferd fovar 14T 4TI
1. Aryabhatta / T He

2. Sulbakar / gesTdHR

3. Bandyama / §G09

4, Lagadha / <MTT

Correct Answer :-
« Lagadha / <IITHT

38) The length of the arc of a sector is 22 cm and the area of the sector is 231 sq cm then the angle of the
sector is: /

U WS & 917 B dars 22 A 3R TS &1 &% 231 i AH g, A @S T HIUr = 2:



1.

1209
2.

450
3. 43

9QY
4,

Correct Answer :-
60°

39) The perimeter of two circles are in the ratio 2:3, then the ratio of their areasis_ ./
31 gt @) aRf &1 ST 2:3 8, A S9% W d BT 3JUTd 2l

1.2:3

2.4:9

3.3:2

4,9:4

Correct Answer :-

40) One of the objectives stated below is not measurable and that is: /

R R § A e A TE g sk TE gl
1. To develop critical thinking. / 7Tg- Raa ol faeRid FH & ﬁm
2. To identify their shapes in the nature. / m T 3d! &Wﬁtﬁ D1 U dRA o forg

3. To illustrate equal sets / TH AT &I HRSHAT B & foIT

4. To recognize rational numbers. / T RT3 B Ted CTCE: 1%111

Correct Answer :-

« To develop critical thinking. / T8 fdd P! famRig axq & forg



Frafafad 7 @ 919 ve Siua-t2s Uy &2

1. Anusha has a total of 50 Rupees. What are the possible denominations she can have? / 3{JU[ & O P

50 U
g1 3P U IHIfad Jeaa! 31 8 9ohd &2

2. Area of a square is 400 cm2. What are the possible values for the side of the square?
/ T 1 T 8 d 400 TH2 g1 I &bt Yor & fore Svifad A s €2

3. Prove that the square of an even numbers is even. /ﬁl@'ﬁ%ﬂﬂm&ﬁﬁaﬁ

T EATe
4. State Pythagoras theorem / tl'l"i’%ﬂ"'nw Uog B EHTQI

Correct Answer :-

« Anusha has a total of 50 Rupees. What are the possible denominations she can have? / S{JUI * U

%d 50 TG
g1 3% U JHIfad Jead! &1 81 Tahd 8?2

42) ‘Mathematics is the mirror of civilization’ was stated by: /

7O [T BT UV B I’ 9% GIRT HET 4T

1. Newton / =gcd
2. Euclid /m
3. Hogben /E-!TTI@:[
4. Plato /ﬁa

Correct Answer :-

« Hogben /g\lﬁ'lazf

43) CANCELLED

Who among the four is not a non-Euclidean? /
IRl # ¥ $iF U R-gfFafrsa 18 82
1. Renaissance / gtl\_rlﬁ'lTUT (Re=)



2. Bolyai / Eﬁ?m's’
3. Lobachevsky / NIEEESEI

4. Enclid / TAfaaS

Correct Answer :-

« Enclid / TAfaas

44) Which one of the following statements is true about power/exponent? /
fFafafed & 9 $9-91 Y= 9a/9aie & 96y | 99 82
1. In 102, 10 is the power and 2 the exponent /
102 %, 10 ©1d 31K 2 UTdib &
2. (5a)° = 5a°
3. 10000 is the exponential form of 10%/
10000, 10* &1 TS ¥ §

4. 216 is the third power of 6/

216, 6 BT AR UG &

Correct Answer :-
e 216 is the third power of 6/

216, 6 BT AR UG &

45) CANCELLED

Algebra is al-gebra =al-jebr wa'almuqabala. The translation of equivalent words of aljebr and wa’'al
mugqabala is and , respectively. /

Teq Algebra, al-gebra =al-jebr wa'almuqabala ?I aljebr 3R wa‘al mugqabala & qHadd sq] BT
3arg 3R :H

1. restoration , reduction / YT:RITUA, YcTd

2. restoration , challenging / Y ®ITY, ﬁ?ﬁ
3. restoration , proving / G1: &4, Rig Al

4. balancing, solving / ¥, JHIYH

Correct Answer :-



« restoration , reduction / YT:RITU-, YcTd

46) CANCELLED

If the mean of “1'*2:%3 is 4, then the mean of 2xy,2x3,2%5 is ./

gfe *vrets PN 4R, @ v SIHIE B
1.2
2.4
3.8

4.6

Correct Answer :-

47) CANCELLED

If one zero of the quadratic polynomial is x*2+3x+k is 2, then the value of k=

Tfe feeTd 98US xA 24 3x+k BT TS YLAP 2 8, A k BTHM = |
—10

1.

'\.“'ﬁ
2.

3.10

4.5

Correct Answer :-

48) CANCELLED

Which of the following is not under remembering objective? /
fFrafafeaa o § #19 iy v & sdfa ) smar 82
1. Measures accurately / gy AT HIAT

2. None of the above / SWRIGd T Ob\l'i::@:[



3. Recall term /mwﬂtrw

4. Recognizes formula / JA UgdI—]

Correct Answer :-

« Measures accurately / YTy ATI BT

49) CANCELLED

A, B, C and D are positioned at (12, 2), (16, 4), (18, 8) and (2a, 6). If the points are joined a rectangle
ABCD is formed, find D’s position. /

AB,CTE D (12, 2), (16, 4), (18, 8) Td (2a, 6) W fua &1 afe fagan &I firamar wime ot v smaa ABCp 9
STaT 8, @ p P fRUf 3ra HI1

1. (14, 6)

2.(13,6)

3.(11, 6)

4. (12, 6)

Correct Answer :-

« (14,6)

50) CANCELLED

Which of the following formula holds good for zeros of a quadratic polynomial? /
frufafea & 9 o191 9197 ffura sgue & 3 31 981 afis | ufvunfia svarg?

1. Product of zeros = coefficient of x/constant term /

Y BT U= x &I UM/ 3R Ug

2. Product of zeros = Constant term/coefficient of x /
YA BT UH= 3R g/ x BT IUIH

3. Sum of zeros = -(Coefficient of x2)/coefficient of x/
[ BT A=~ x2 1 J0P)/ x BT 00

4. Sum of zeros = -(Coefficient of x)/coefficient of x2 /
[ T ART=-( x BT T011h)/ x2 T 0Tieh

Correct Answer :-

* Sum of zeros = -(Coefficient of x)/coefficient of x2 /



T 1 UNT=-( x BT Ulib)/ x2 BT Ulics
51) CANCELLED
Pythagoras established the order called ./
URUTIRE A A 3ifex &1 wiifud fFam
1. Figurative numbers / JTeihTRD T
2. Brotherhood / IGXgS
3. Pythagoreans /UEWW
4. Mathematics / TTTOTGI

Correct Answer :-

o Pythagoreans /UEWW

52) CANCELLED

Choose the correct statement about integers. /

quiterl & fawa & 98 S &1 999 B

1. Subtraction is commutative for integers /
gera quifes & fore fafaasiier giar g

2. Addition is associative for all integers /

grr @t quifept & fog geantt grar g

3. Division is associative for all integers except 0 /
faure 0 B BreHR Tt qurie! & for wee gl 8|

4. Whole number are closed under addition & subtraction /

quf TR AT 3R TeTd & Sidid Sfavg gl 3|

Correct Answer :-

» Addition is associative for all integers /

grT et quiie! & fog gearh giar 3 |

53) CANCELLED

What will be the sign of the product if we multiply together:



1. 9 negative integers and 4 positive integers
2. 5 negative integers and 5 positive integers
3. 4 negative integers and 7 positive integers
4. 8 negative integers and 5 positive integers
5. (-3), 2n times, n is a natural number. /
gfe 89 578 ST T TUN HXd & df YUFTd HT g w1 ghm:
1. 9 BUTHS YUIIP 3R 4 YATHS YUITH

2. 5 BUTHS YUITP 3R 5 YATHD YUIH

3. 4 BUTHS QUITP 3R 7 YATHS YUIH

4. 8 BUTHP YU 3R 5 YTHS YUIID

(-3), 2n SR, n T UIPHd B 3|

1. i — positive, ii — negative, iii — negative, iv — positive, v —negative /

i — 4FTHD, ii — BUTHD, i — BUTHD, iv — YTHD, v — BUTHD

2. i — positive, ii — negative, iii — negative, iv — positive, v — positive /

i — YATHD, ii — BUTHD, iii — BUTHD, iv — YITHB, v — YATHD

3. i — negative, ii — negative, iii — positive, iv — positive, v —positive /

i — BUNHD, ii — BUTHD, iii — YATHD, iv — YTTHD, v — YATHD

4. i — negative, ii — negative, iii — negative, iv — positive, v —positive /

i = BUMHD, ii — BUMHD, iii — BUMHD, iv — YAIHD, v — YITHD

Correct Answer :-

» i—negative, ii — negative, iii — positive, iv — positive, v —positive /

i — BUMHD, ii — BUITHD, iii — YATHD, iv — YATHD, v — Yq[HD
54) CANCELLED

Which of the following is the multiplicative identity in the set of whole humbers?

/
Frafafad § 9 #19-31 gf Senel & 9= § uds JaEudr 8?2
1.1

2. All whole numbers /



Tt guf Terd
3.0

4. -1

Correct Answer :-

55) CANCELLED

When N is a set of all natural numbers, W the set of all whole numbers, Z the set of all real numbers,
then which of the following is true?/

afe N 9t wipa wEms &1 e Jg=a 8, W I quife 1 aq=y 8, 2 9t arafas semnsii o1 aq=y g,
ot frrafefeaa 3 & Fi9-ar 9 82

ECZCWCN
WCNCcCRcCZ
NcZcWcR
NCWcZcR

Correct Answer :-
NcWcZcR

56) CANCELLED

Find the sum of perimeters of an equilateral triangle and a regular pentagon whose both side is 4
cm. /

T quag Ry iR te Fafia vays #t okt &1 9 39 3, et a1 yomd 4 9 71
1.32cm/

32 gt
2.252 cm/

252 9!

3.36 cm/
36 I



4. 62 cm/
62 T

Correct Answer :-
e 32 cm/
32 At

57) CANCELLED

Find the perimeter of the triangle whose sides are 4 meter, 5 meter and 60 cm. /
et &1 aiHTT 31d 3, Rt Yo 4 ey, 5 Hiex ok 60 A €1

1. 69 meter /

69 HIex

2. 9.6 meter/
9.6 1:“3?

3. 3600 meter /
3600 Hiex

4. 6.9 meter /
6.9 1:“3?

Correct Answer :-

e 9.6 meter/

9.6 Hiex

58) CANCELLED

In a right angled triangle the square of the hypotenuse is twice the product of the other two sides.
Find one of the angles of the triangle. /

TP TUHI Ay & Bl 1 97 3o G Yoiait & ot &1 AT B | AYS & FHIoi & A T J1d B



4 60°

Correct Answer :-

59) Express 15625 as a power of 5. / 5 & °Id &4 # 15625 &I Uad H1 |
1.4°
2.5°
3.5°
4. 6°

Correct Answer :-

60) A(3,5) and B(-3,5) are the end points of the diameter of a circle. Find the centre of the circle. /
A(3,5) T4 B(-3,5) T g & 19 & Sifaw fig §1 99 &1 5 91d S

1. (5,0)

2. (6,5)

3. (3,0)

4. (0,5)

Correct Answer :-



